

Order of Operations (Add and Subtract with brackets)

Name: _____

Date: _____

$$(7 + 6) + 9 + 1 = \underline{\hspace{2cm}}$$

$$(9 - 7) - 3 + 9 = \underline{\hspace{2cm}}$$

$$(8 - 2) - 4 - 9 = \underline{\hspace{2cm}}$$

$$(1 + 2) + 5 - 9 = \underline{\hspace{2cm}}$$

$$(3 - 1) + 3 - 2 = \underline{\hspace{2cm}}$$

$$(6 - 4) - 6 + 3 = \underline{\hspace{2cm}}$$

$$(4 - 1) - 5 - 7 = \underline{\hspace{2cm}}$$

$$(5 - 2) + 6 - 6 = \underline{\hspace{2cm}}$$

$$(6 - 3) - 4 - 5 = \underline{\hspace{2cm}}$$

$$(4 - 2) + 3 + 1 = \underline{\hspace{2cm}}$$

$$(4 - 6) - 6 - 5 = \underline{\hspace{2cm}}$$

$$(9 + 7) + 9 + 8 = \underline{\hspace{2cm}}$$

$$(9 - 3) - 2 - 4 = \underline{\hspace{2cm}}$$

$$(4 + 3) - 9 - 5 = \underline{\hspace{2cm}}$$

$$(9 - 6) - 5 + 9 = \underline{\hspace{2cm}}$$

$$(7 - 1) + 8 + 6 = \underline{\hspace{2cm}}$$

$$(4 + 2) + 1 + 6 = \underline{\hspace{2cm}}$$

$$(9 + 5) - 6 - 8 = \underline{\hspace{2cm}}$$

$$(5 - 8) + 8 + 6 = \underline{\hspace{2cm}}$$

$$(7 + 9) + 4 - 1 = \underline{\hspace{2cm}}$$

$$(6 + 3) + 4 - 4 = \underline{\hspace{2cm}}$$

$$(7 - 2) - 8 - 6 = \underline{\hspace{2cm}}$$

$$(3 + 9) + 8 - 4 = \underline{\hspace{2cm}}$$

$$(2 + 9) - 7 - 4 = \underline{\hspace{2cm}}$$

$$(5 + 8) - 8 - 8 = \underline{\hspace{2cm}}$$

$$(5 + 1) - 8 + 1 = \underline{\hspace{2cm}}$$

$$(2 + 9) + 2 + 4 = \underline{\hspace{2cm}}$$

$$(8 + 5) + 6 - 9 = \underline{\hspace{2cm}}$$

$$(9 - 9) - 8 + 9 = \underline{\hspace{2cm}}$$

$$(7 - 4) + 5 - 9 = \underline{\hspace{2cm}}$$

$$(5 - 2) - 3 + 2 = \underline{\hspace{2cm}}$$

$$(6 - 4) - 6 - 5 = \underline{\hspace{2cm}}$$

$$(1 + 8) + 8 - 6 = \underline{\hspace{2cm}}$$

$$(5 - 9) - 1 - 8 = \underline{\hspace{2cm}}$$

$$(5 - 8) - 3 + 9 = \underline{\hspace{2cm}}$$

$$(9 - 7) - 1 + 2 = \underline{\hspace{2cm}}$$